Warm Up /Oilo\bier 10, 2018
1.) A. Solve the inequality: 3 -|(7 - 2X) > -8.

B. List three numbers that make the inequality

Eprax>-3 5-q) 3o

—LPrax*:- 8 3-Q-9) >-%
10,1, | O—F >-
& -‘"_i = ‘ & '&5>‘8%

L - r
2.) The\lengt o?a rectangle|is reater{than the
‘widthi The{perimeter(is{i50 m) Find the width and

length =
= Wts k"Otd,dLF
Sidy§

W F”=l‘5§[)wn W W45 i+ Wt 5+u=\50
Wi5 H+10=150




Solving Inequalities Practice
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Key Words

< (less than)

= (equal)

> (greater than)

is less than is / are / will be /only more than
IS under is the same as above
is below that is equal to over

shorter / smaller than

exactly

greater / larger than

fewer than

half (= 5 or % *)

exceeds / increased

is lower than longer than
beneath is higher than
a better deal

< (less than or equal to)

# (not equal to)

> ater than or equal to)

F =
_at most is not equal to at leas
maximum ) is not the same as minimum
om is different / differs from | to

is no more than )

is no less than )




Translate the verbal phrases into inequalities.

1.) x islat most]6

- X=10o
X
2.)¥ou) ugi: lﬁ at least|25 years old to rent a car.

T

3.) a number that is(Et least|90 ‘P =0

4.) a number that is\at most{30 % < 30



1.) Katie had@ recipes)for desserts in her file box

beforeladding)x,new recipes. If she now haslat least |
(50 recipes which inequality could be used to >

determine the number of new recipes she added to

her files? , 77, > 38 3 g‘l’ X?-SO S

B. x+382=50 D.x+38<50

yants tq_buy several cans of beans that sell for
loaf of bread that cost Juanita

2.) Juanitg

Grooper

B. 1.29x + 140 = 20 D.129x 1+ 140 <20



Write and solve the inequalities for the scenarios

below.

1. + The charge to rent a car for a day 1sThere 1S

an(additionalcharge ofwmll e] What is the
eatest

|gr umber of miles that a rented car can be

driven in a day if the

A. 149 miles

total

-l&‘m—HbLL\-O

bill is to belless than $40?)

C. 190 rmles L

b “!

B. 160 miles ol a-m

lQ
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2.) The cost to print a book is($54) The paper is an -
additional charge of §0.05 per|page. What is the/greatest |
number of pages that a book can be printed if the total bill
1s to be(less than!§60? )
< p= p&%Q;S Q::\D
A. 1200 pages . 60 pages

-05p+54+< ()

B. 120 pages_ _SL\- "5‘-\-D. 1080 pages




3.) Mrs. Smith wrote Qm‘ ess than{hredfimes)a
numberlfis greater thanjiteeny on the board. It x
represents the number, Which inequality is a
correct translation of this statement?

ussthan  HESY
Z.

b) 3x — 8 < 15 S
\T

H8—seas  OX 15

4.) WWW
hermafh—e}&ss— hour L
her father gavezhe $10
reem- What is thel minimum amount of hours she will
need to babysit in order for her to buy her calculator?

ON+10=100 n=hours
=D =10
Oh =90




5.) A school club sells candy bars for a fundraiser.

If the club makes a profit of 25¢ on each candy bar and
spends $25 on advertising, how many candy bars must
be sold to make a profit of at least $100?



